C. M.						
LakeCounty Division of Transportation						
Division of transportation		0 (0:1.0				
		Summary of Bids Rece	eived			
_	t: 2016 Concrete Patching (Base Bid only)				
Section	1: 16-00000-10-GM					
Description	adjustments and HMA sh	crete curb & gutter w/ drainage stro oulders	ucture			
CPMS Pir	n: B-00965					
Let Date	e: 4/12/2016					
Bidder A Lamp Concrete Contractors, Inc. Schroeder & Schroeder Inc. Alliance Contractors, Inc.	Address 1900 Wright Blvd 7306 Central Park 1166 Lake Avenue	City, State, Zip Schaumburg, IL 60193 Skokie, IL 60076 Woodstock, IL 60098	Bond Bid Bond Bid Bond Bid Bond	Bid Price \$97,931.00 \$143,061.00 \$190,442.80	73.48%	\$ Over/Under Eng. Estimate \$15,463.50 \$60,593.50 \$107,975.30
Engineer's Estimate				\$82,467.50		
Design	IDOT(2)	Contract Bidder	F	PJT then Plan Racl	k	
Finance	Bid Tab File	Resident Eng.		Administrative Assi	stant	
Construction	Project File	Request By Mail		Mgr Capital Prograi	mming	



Return Bid Tabulation

Project: 2016 Concrete Patching (Base Bid only)

Section: 16-00000-10-GM

Description: Remove and replace concrete curb & gutter w/ drainage structure adjustments and HMA shoulders

CPMS Pin: B-00965 Let Date: 4/12/2016

Item												
No.	Pay Code	Description	Quantity	Unit	Eng Es	timate Extnd. Price	Alliance Contractors, Inc. Unit Price Extnd. Price		A Lamp Concrete Contractors, Inc. Unit Price Extnd. Price		Schroeder & Schroeder Inc. Unit Price Extnd. Price	
1	35101600	AGGREGATE BASE COURSE, TYPE B 4"	462.0	SQ YD	\$7.50	\$3,465.00	\$5.65	\$2,610.30	\$3.00	\$1,386.00	\$10.00	\$4,620.00
2	40603080	HOT-MIX ASPHALT BINDER COURSE,	43.0	TON	\$140.00	\$6,020.00	\$400.00	\$17,200.00	\$145.00	\$6,235.00	\$225.00	\$9,675.00
3	40603335	HOT-MIX ASPHALT SURFACE COURSE,	33.0	TON	\$150.00	\$4,950.00	\$500.00	\$16,500.00	\$155.00	\$5,115.00	\$250.00	\$8,250.00
4	42001300	PROTECTIVE COAT	221.0	SQ YD	\$2.50	\$552.50	\$5.00	\$1,105.00	\$2.00	\$442.00	\$8.00	\$1,768.00
5	44000100	PAVEMENT REMOVAL	340.0	SQ YD	\$12.50	\$4,250.00	\$20.00	\$6,800.00	\$10.00	\$3,400.00	\$25.00	\$8,500.00
6	44000300	CURB REMOVAL	66.0	FOOT	\$25.00	\$1,650.00	\$35.00	\$2,310.00	\$8.00	\$528.00	\$10.00	\$660.00
7		COMBINATION CURB AND GUTTER REMOVAL	859.0	FOOT	\$10.00	\$8,590.00	\$35.00	\$30,065.00	\$8.00	\$6,872.00	\$10.00	\$8,590.00
8	44201749	CLASS D PATCHES, TYPE I, 9 INCH	52.0	SQ YD	\$65.00	\$3,380.00	\$195.00	\$10,140.00	\$55.00	\$2,860.00	\$185.00	\$9,620.00
9	60600605	CONCRETE CURB, TYPE B	144.0	FOOT	\$40.00	\$5,760.00	\$30.00	\$4,320.00	\$40.00	\$5,760.00	\$42.00	\$6,048.00
10	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	731.0	FOOT	\$30.00	\$21,930.00	\$42.50	\$31,067.50	\$33.00	\$24,123.00	\$55.00	\$40,205.00
11	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	128.0	FOOT	\$40.00	\$5,120.00	\$75.00	\$9,600.00	\$45.00	\$5,760.00	\$75.00	\$9,600.00
12		TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$7,500.00	\$7,500.00	\$48,925.00	\$48,925.00	\$22,500.00	\$22,500.00	\$17,500.00	\$17,500.00
13		DRAINAGE STRUCTURES TO BE ADJUSTED	23.0	EACH	\$300.00	\$6,900.00	\$250.00	\$5,750.00	\$400.00	\$9,200.00	\$425.00	\$9,775.00
14		DRAINAGE STRUCTURES TO BE RECONSTRUCTED	3.0	EACH	\$800.00	\$2,400.00	\$1,350.00	\$4,050.00	\$1,250.00	\$3,750.00	\$2,750.00	\$8,250.00
		Bid Total				\$82,467.50		\$190,442.80		\$97,931.00		\$143,061.00



Return Bid Details

Project: 2016 Concrete Patching (Base Bid only)

Section: 16-00000-10-GM

Description: Remove and replace concrete curb & gutter w/ drainage structure adjustments and HMA shoulders

CPMS Pin: B-00965 **Let Date:** 4/12/2016

Item					Eng Estimate		Min. Bid	May Did	Ava Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Max. Bid Price	Avg. Bid Price
1	35101600	AGGREGATE BASE COURSE, TYPE B 4"	462.0	SQ YD	\$7.50	\$3,465.00	\$3.00	\$10.00	\$6.22
2	40603080	HOT-MIX ASPHALT BINDER COURSE,	43.0	TON	\$140.00	\$6,020.00	\$145.00	\$400.00	\$256.67
3	40603335	HOT-MIX ASPHALT SURFACE COURSE,	33.0	TON	\$150.00	\$4,950.00	\$155.00	\$500.00	\$301.67
4	42001300	PROTECTIVE COAT	221.0	SQ YD	\$2.50	\$552.50	\$2.00	\$8.00	\$5.00
5	44000100	PAVEMENT REMOVAL	340.0	SQ YD	\$12.50	\$4,250.00	\$10.00	\$25.00	\$18.33
6	44000300	CURB REMOVAL	66.0	FOOT	\$25.00	\$1,650.00	\$8.00	\$35.00	\$17.67
7	44000500	COMBINATION CURB AND GUTTER REMOVAL	859.0	FOOT	\$10.00	\$8,590.00	\$8.00	\$35.00	\$17.67
8	44201749	CLASS D PATCHES, TYPE I, 9 INCH	52.0	SQ YD	\$65.00	\$3,380.00	\$55.00	\$195.00	\$145.00
9	60600605	CONCRETE CURB, TYPE B	144.0	FOOT	\$40.00	\$5,760.00	\$30.00	\$42.00	\$37.33
10	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	731.0	FOOT	\$30.00	\$21,930.00	\$33.00	\$55.00	\$43.50

		Bid Total	\$82,467.50						
14	Z0018600	DRAINAGE STRUCTURES TO BE RECONSTRUCTED	3.0	EACH	\$800.00	\$2,400.00	\$1,250.00	\$2,750.00	\$1,783.33
13	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	23.0	EACH	\$300.00	\$6,900.00	\$250.00	\$425.00	\$358.33
12	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$7,500.00	\$7,500.00	\$17,500.00	\$48,925.00	\$29,641.67
11	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	128.0	FOOT	\$40.00	\$5,120.00	\$45.00	\$75.00	\$65.00